Communications in Mathematical Research **26**(1)(2010), 17–26

Asymptotic Distribution of a Kind of Dirichlet Distribution*

CHEN FEI¹ AND SONG LI-XIN²

Science College, Changchun University, Changchun, 130022)
 Mathematical College, Jilin Normal University, Siping, Jilin, 136000)

Communicated by Wang De-hui

Abstract: The Dirichlet distribution that we are concerned with in this paper is very special, in which all parameters are different from each other. We prove that the asymptotic distribution of this kind of Dirichlet distributions is a normal distribution by using the central limit theorem and Slutsky theorem.

Key words: Dirichlet distribution, asymptotic distribution, normal distribution

2000 MR subject classification: 65M02, 65N15, 65R43

CLC number: O241.81 Document code: A

Article ID: 1674-5647(2010)01-0017-10

1 Introduction

The Dirichlet distribution is a common multivariate distribution. It not only plays a very important role in modern non-parameter statistics, but also serves as the conjugate priori distribution of the multinomial distribution which is wildly used in Bayes statistics. As we know, the limit distribution of the Beta distribution is a normal distribution (see [1]), and the Dirichlet distribution is the multivariate form of the Beta distribution (see [2]). So it is very important to investigate the asymptotic distribution of the Dirichlet distribution. For the Dirichlet distribution in which all parameters are the same, we have obtained an important conclusion (see [3]). But the Dirichlet distribution that we are concerned with in this paper is very special, in which all parameters are different from each other. We prove that the asymptotic distribution of this kind of Dirichlet distributions is still a normal distribution by using the central limit theorem and Slutsky theorem.

^{*}Received date: Oct. 16, 2008.

Foundation item: Plan Project of Department of Education Science and Technology of Jilin Province, No.152[2007].

2 Main Result

Lemma 2.1^[4] Suppose that $\xi_1, \xi_2, \dots, \xi_n, \dots$ are all i.i.d random vectors of dimension $m(\in Z^+)$, $\bar{\xi}_n = \frac{1}{n} \sum_{i=1}^m \xi_i$, and $N(x, \mu, \Sigma)$ denotes the value on x of the multivariate normal distribution function with expectation μ and covariance matrix Σ . For $E(\xi_j) = \mu$ and $Var(\xi_j) = \Sigma > 0$, there is (vector form $\mathbf{a} < \mathbf{b}$ expresses each of their corresponding components satisfies the same inequality relation)

$$\lim_{T \to \infty} P\{\sqrt{n}(\bar{\xi}_n - \mu) < x\} \xrightarrow{W} N(x, 0, \Sigma).$$

Lemma 2.2^[5] If $\{\xi_n\}$ and $\{\eta_n\}$ are all random variable sequences with $(\xi_n, \eta_n)^T \xrightarrow{L} (\xi, \eta)^T$, $\zeta_n \xrightarrow{P} 0$ and $\tau_n \xrightarrow{P} 0$, then $(\xi_n + \zeta_n, \eta_n + \tau_n)^T \xrightarrow{L} (\xi, \eta)^T$.

Theorem 2.1 Suppose that the random vector $(Y_1, Y_2, \dots, Y_n)^T$ obeys the Dirichlet distribution with parameters $(\alpha_1, \alpha_2, \dots, \alpha_m, \alpha_{m+1})$ satisfying

$$Y_i \ge 0, \quad \sum_{i=1}^m Y_i \le 1, \quad \alpha_i \ge 1 \qquad (i = 1, 2, \dots, m+1).$$

Particularly, when $\alpha_1 = n_1$, $\alpha_2 = n_2$, \cdots , $\alpha_m = n_m$, $\alpha_{m+1} = n_{m+1}$ $(n_i \in Z^+)$, we denote $\sum_{k=1}^{m+1} n_k = N$. Given a matrix \mathbf{A} and a vector \mathbf{C} , if $\frac{n_k}{N} \longrightarrow \gamma_k$ when $n_k \to \infty$, where $\gamma_k \in (0,1)$, $k = 1, 2, \cdots, m+1$, then

$$A[(Y_1, Y_2, \cdots, Y_m)^T - C] \xrightarrow{L} Z \sim N_m(\mathbf{0}, \Sigma),$$

where

$$\boldsymbol{A} = (\lambda_{ij})_{m \times m}$$

with

$$\lambda_{ij} = \begin{cases} \frac{N^2}{\sqrt{n_i(N-n_i)N}}, & i=j; \\ 0, & i\neq j, \end{cases}$$
 $i,j=1,2,\cdots,m,$

and

$$C = \left(\frac{n_1}{N}, \frac{n_2}{N}, \dots, \frac{n_i}{N}, \dots, \frac{n_{m-1}}{N}, \frac{n_m}{N}\right)^T,$$

and $N_m(\mathbf{0}, \Sigma)$ is the m-dimensional normal distribution whose covariance matrix is

$$\Sigma = (\sigma_{ij})_{m \times m} = \begin{cases} 1, & i = j; \\ -\sqrt{\frac{\gamma_i \gamma_j}{(1 - \gamma_i)(1 - \gamma_j)}}, & i \neq j, \end{cases}$$
 $i, j = 1, 2, \dots, m.$

Proof. (1) Suppose that $X_{11}, X_{12}, \dots, X_{1n_1}, \dots; X_{21}, X_{22}, \dots, X_{2n_2}, \dots; \dots; X_{m1}, X_{m2}, \dots, X_{mn_m}, \dots; X_{m+1,1}, X_{m+1,2}, \dots, X_{m+1,n_{m+1}}, \dots$ are all random variable sequences with independent and identical distribution and obey the exponential type distribution: Exp(1). Because Exp(1) is also Ga(1,1) (see [6]), according to the countable additivity of Γ -distribution, we know that $n_i \bar{X}_i \sim \Gamma(n_i, 1)$, where

$$\bar{X}_i = \frac{1}{n_i} \sum_{i=1}^{n_i} X_{ij}.$$

Let

$$\sum_{k=1}^{m+1} = N, \qquad Y_i = \frac{n_i \bar{X}_i}{\sum_{k=1}^{m+1} n_k \bar{X}_k}.$$

Then

$$Y_i \sim \beta(n_i, N - n_i), \qquad i = 1, 2, \dots, m + 1.$$

Obviously,

$$\sum_{k=1}^{m+1} Y_k = 1,$$

and by [7] we know that

$$(Y_1, Y_2, \cdots, Y_m)^T \sim D(n_1, n_2, \cdots, n_m, n_{m+1})$$

and its density function is

$$f(y_1, y_2, \dots, y_m) = \begin{cases} \frac{\Gamma\left[\sum_{k=1}^{m+1} n_k\right]}{\sum_{k=1}^{m+1} \Gamma(n_k)} \prod_{k=1}^{m} y_k^{n_k - 1} \left(1 - \sum_{k=1}^{m} y_k\right)^{n_{m+1} - 1}, & y_i \ge 0, \sum_{k=1}^{m+1} y_k = 1; \\ 0, & \text{elsewhere.} \end{cases}$$

Noting that

$$E(X_{ij}) = E(\bar{X}_i) = 1,$$

we have

$$Var(X_{ij}) = 1, \qquad Var(\bar{X}_i) = \frac{1}{n_i}.$$

Since every Y_i is the function of $(\bar{X}_1, \bar{X}_2, \dots, \bar{X}_m, \bar{X}_{m+1})$, we denote

$$h(\bar{X}_1, \ \bar{X}_2, \ \cdots, \ \bar{X}_m, \ \bar{X}_{m+1}) = \left(\frac{n_1 \bar{X}_1}{\sum\limits_{k=1}^{m+1} n_k \bar{X}_k}, \ \frac{n_2 \bar{X}_2}{\sum\limits_{k=1}^{m+1} n_k \bar{X}_k}, \ \cdots, \ \frac{n_m \bar{X}_m}{\sum\limits_{k=1}^{m+1} n_k \bar{X}_k}\right)^T$$
$$= (Y_1, \ Y_2, \ \cdots, \ Y_m)^T.$$

Using the Taylor formula to expand every component of $h(\bar{X}_1, \bar{X}_2, \dots, \bar{X}_m, \bar{X}_{m+1})$ at $(1, 1, \dots, 1)_{1 \times (m+1)}$, we get

$$h(\bar{X}_1, \bar{X}_2, \dots, \bar{X}_m, \bar{X}_{m+1}) = h(1, 1, \dots, 1, 1) + Q + R,$$

where

$$h(1,1,\dots,1,1) = \left(\frac{n_1}{N}, \frac{n_2}{N}, \dots, \frac{n_i}{N}, \dots, \frac{n_{m-1}}{N}, \frac{n_m}{N}\right)^T$$

which is denoted by C; moreover,

$$(Y_1, Y_2, \cdots, Y_m)^T - \mathbf{C} = \mathbf{Q} + \mathbf{R},$$

where

$$Q = (Q_1, Q_2, \dots, Q_m)^T, \qquad R = (R_1, R_2, \dots, R_m)^T.$$

We know that

$$Q_{i} = \sum_{k=1}^{m+1} \frac{\partial Y_{i}}{\partial \overline{X}_{k}} \Big|_{\bar{X}_{k}=1, k=1, 2, \dots, m+1} (\bar{X}_{k} - 1), \qquad i = 1, 2, \dots, m,$$

SO

$$Q_{i} = \frac{n_{i} \sum_{k=1, k \neq i}^{m+1} n_{k} \bar{X}_{k}}{\left(\sum_{k=1}^{m+1} n_{k} \bar{X}_{k}\right)^{2}} \Big|_{\bar{X}_{k}=1; k=1, 2, \cdots, m+1} (\bar{X}_{i}-1)$$

$$- \frac{n_{i}}{\left(\sum_{k=1}^{m+1} n_{k} \bar{X}_{k}\right)^{2}} \Big|_{\bar{X}_{k}=1; k=1, 2, \cdots, m+1} \cdot \sum_{k=1, k \neq i}^{m+1} n_{k} (\bar{X}_{k}-1)$$

$$= \frac{n_{i} \sum_{k=1, k \neq i}^{m+1} n_{k}}{\left(\sum_{k=1}^{m+1} n_{k}\right)^{2}} (\bar{X}_{i}-1) - \frac{n_{i}}{\left(\sum_{k=1}^{m+1} n_{k}\right)^{2}} \sum_{k=1, k \neq i}^{m+1} n_{k} (\bar{X}_{k}-1)$$

$$= \frac{n_{i} (N-n_{i})}{N^{2}} (\bar{X}_{i}-1) - \frac{n_{i}}{N^{2}} \sum_{k=1, k \neq i}^{m+1} n_{k} (\bar{X}_{k}-1).$$

Set

$$1 + \theta(\bar{X}_k - 1) = T_k$$

with

$$0 < \theta < 1,$$
 $k = 1, 2, \dots, m + 1.$

Meanwhile,

$$R_{i} = \frac{1}{2} \sum_{k=1}^{m+1} \frac{\partial^{2} Y_{i}}{(\partial \overline{X}_{k})^{2}} \Big|_{\bar{X}_{k} = T_{k}; k=1, 2, \cdots, m+1} (\bar{X}_{k} - 1)^{2}$$

$$+ \frac{1}{2} \sum_{k=1, k \neq l}^{m+1} \sum_{l=1}^{m+1} \frac{\partial^{2} Y_{i}}{\partial \overline{X}_{k} \partial \bar{X}_{l}} \Big|_{\bar{X}_{k} = T_{k}, \bar{X}_{l} = T_{l}; k, l=1, 2, \cdots, m+1} (\bar{X}_{k} - 1)(\bar{X}_{l} - 1),$$

$$i = 1, 2, \dots, m$$

So

$$R_{i} = -\frac{n_{i}^{2} \sum_{k=1, k \neq i}^{m+1} n_{k} \bar{X}_{k}}{\left[\sum_{k=1}^{m+1} n_{k} \bar{X}_{k}\right]^{3}} \left|_{\bar{X}_{k} = T_{k}; k=1, 2, \cdots, m+1} (\bar{X}_{i} - 1)^{2} + \frac{n_{i} \bar{X}_{i}}{\left[\sum_{k=1}^{m+1} n_{k} \bar{X}_{k}\right]^{3}} \right|_{\bar{X}_{k} = T_{k}; k=1, 2, \cdots, m+1} \sum_{k=1, k \neq i}^{m+1} n_{k}^{2} (\bar{X}_{k} - 1)^{2} + \frac{n_{i} (2n_{i} \bar{X}_{i} - \sum_{k=1}^{m+1} n_{k} \bar{X}_{k})}{\left[\sum_{k=1}^{m+1} n_{k} \bar{X}_{k}\right]^{3}} \left|_{\bar{X}_{k} = T_{k}; k=1, 2, \cdots, m+1} (\bar{X}_{i} - 1) \sum_{k=1, k \neq i}^{m+1} n_{k} (\bar{X}_{k} - 1)\right|_{\bar{X}_{k} = T_{k}; k=1, 2, \cdots, m+1}$$

$$+ \frac{2n_{i}\bar{X}_{i}}{\left[\sum\limits_{k=1}^{m+1}n_{k}\bar{X}_{k}\right]^{3}} \left| \sum_{\bar{X}_{k}=T_{k};k=1,2,\cdots,m+1}^{m+1} \sum_{k=1,k\neq i,k\neq l}^{m+1} \sum_{l=1,l\neq i}^{m+1} n_{k}(\bar{X}_{k}-1)n_{l}(\bar{X}_{l}-1) \right|$$

$$= -\frac{n_{i}^{2}\sum\limits_{k=1,k\neq i}^{m+1} n_{k}T_{k}}{\left[\sum\limits_{k=1}^{m+1} n_{k}T_{k}\right]^{3}} (\bar{X}_{i}-1)^{2} + \frac{n_{i}T_{i}}{\left[\sum\limits_{k=1}^{m+1} n_{k}T_{k}\right]^{3}} \sum_{k=1,k\neq i}^{m+1} n_{k}^{2}(\bar{X}_{k}-1)^{2}$$

$$+ \frac{n_{i}\left(2n_{i}T_{i}-\sum_{k=1}^{m+1} n_{k}T_{k}\right)}{\left[\sum\limits_{k=1}^{m+1} n_{k}\bar{X}_{k}\right]^{3}} (\bar{X}_{i}-1) \sum_{k=1,k\neq i}^{m+1} n_{k}(\bar{X}_{k}-1)$$

$$+ \frac{2n_{i}T_{i}}{\left[\sum\limits_{k=1}^{m+1} n_{k}\bar{X}_{k}\right]^{3}} \sum_{k=1,k\neq i,k\neq l}^{m+1} \sum_{l=1,l\neq i}^{m+1} n_{k}(\bar{X}_{k}-1)n_{l}(\bar{X}_{l}-1).$$

(2) We are to prove that

$$AQ \xrightarrow{L} Z \sim N_m(0, \Sigma) \text{ as } n_k \longrightarrow \infty, \qquad k = 1, 2, \cdots, m+1.$$

Noting that the matrix \boldsymbol{A} and the vector \boldsymbol{Q} are shown before, by means of an easy calculation we get

$$\mathbf{A}\mathbf{Q} = (\eta_1, \eta_2, \cdots, \eta_i, \cdots, \eta_{m-1}, \eta_m)^T$$

in which the *i*-th component of AQ is

$$\eta_{i} = \frac{N^{2}}{\sqrt{n_{i}(N - n_{i})N}} Q_{i}
= \sqrt{\frac{(N - n_{i})}{N}} \sqrt{n_{i}} (\bar{X}_{i} - 1) - \sum_{k=1, k \neq i}^{m+1} \sqrt{\frac{n_{i}n_{k}}{(N - n_{i})N}} \sqrt{n_{k}} (\bar{X}_{k} - 1).$$

If we set
$$B_{t} = (a_{ij})_{m \times m} = \begin{cases} \sqrt{\frac{N - n_{i}}{N}}, & i = j = t; \\ -\sqrt{\frac{n_{t}n_{i}}{(N - n_{i})N}}, & i = j, \ i \neq t, \ j \neq t; \end{cases}$$
 for $t = 1, 2, \dots, m,$
$$0, & i \neq j \end{cases}$$

$$B_{m+1} = (b_{ij})_{m \times m} = \begin{cases} \sqrt{-\frac{n_{i}n_{m+1}}{(N - n_{i})N}}, & i = j; \\ 0, & i \neq j, \end{cases}$$

$$\bar{X}_{t} = [\sqrt{n_{t}}(\bar{X}_{t} - 1), \sqrt{n_{t}}(\bar{X}_{t} - 1), \dots, \sqrt{n_{t}}(\bar{X}_{t} - 1)]_{1 \times m}^{T},$$

$$\mathbf{W}_{tj} = (X_{tj} - 1, X_{tj} - 1, \dots, X_{tj} - 1)_{1 \times m}^{T},$$

$$\mathbf{0} = (0, 0, 0, \dots, 0)_{1 \times m}^{T},$$

then we have

$$\boldsymbol{A}\boldsymbol{Q} = \sum_{t=1}^{m+1} \boldsymbol{B}_t \bar{X}_t.$$

For any real number t and $j = 1, 2, \dots, n_t$, $\boldsymbol{B}_t \boldsymbol{W}_{tj}$ is of i.i.d. By Lemma 2.1 (the multivariate central limit theorem) we obtain that

$$\sum_{j=1}^{n_t} \mathbf{B}_t \mathbf{W}_{tj} = \sum_{j=1}^{n_t} \mathbf{B}_t \cdot (X_{tj} - 1, X_{tj} - 1, \dots, X_{tj} - 1)^T = \sqrt{n_t} \mathbf{B}_t \bar{X}_t,$$

$$\sum_{j=1}^{n_t} \mathbf{B}_t \mathbf{W}_{tj} - \mathbf{0} = \sum_{j=1}^{n_t} \mathbf{B}_t \cdot (X_{tj} - 1, X_{tj} - 1, \dots, X_{tj} - 1)^T - (0, 0, \dots, 0)^T$$

$$= \sqrt{n_t} \mathbf{B}_t \bar{X}_t \xrightarrow{L} \mathbf{N}_m(\mathbf{0}, \mathbf{E}_t'),$$

where

$$\mathbf{\textit{E}}_{t}' = Var\Big(\sum_{j=1}^{n_{t}} \mathbf{\textit{B}}_{t} \mathbf{\textit{W}}_{tj}\Big) = n_{t} Var(\mathbf{\textit{B}}_{t} \mathbf{\textit{W}}_{tj}\Big) = n_{t} \mathbf{\textit{B}}_{t} Var(\mathbf{\textit{W}}_{tj}) \mathbf{\textit{B}}_{t}'$$

and

$$Var(\mathbf{W}_{tj}) = (\mathbf{1})_{m \times m}.$$

Let

$$\boldsymbol{E}_t = \boldsymbol{B}_t Var(\boldsymbol{W}_{tj}) \boldsymbol{B}_t'.$$

Then

$$\boldsymbol{B}_t \bar{X}_t \stackrel{L}{\longrightarrow} \boldsymbol{N}_m(\boldsymbol{0}, \boldsymbol{E}_t).$$

Let

$$m{Y} = \sum_{t=1}^{m+1} m{E}_t.$$

By means of a series of calculations we can abtain

$$\mathbf{Y} = (\pi_{ij})_{m \times m} = \begin{cases} 1, & i = j; \\ -\sqrt{\frac{n_i n_j}{(N - n_i)(N - n_j)}}, & i \neq j, \end{cases}$$
 $i, j = 1, 2, \dots, m.$

By means of the condition in the theorem:

"
$$\frac{n_k}{N} \longrightarrow \gamma_k$$
 when $n_k \longrightarrow \infty$, $\gamma_k \in (0,1), \ k = 1, 2, \cdots, m+1$ ",

we get

$$\frac{n_k}{N - n_k} \longrightarrow \frac{\gamma_k}{1 - \gamma_k},$$

and thus

$$Y \longrightarrow \Sigma, \qquad n_k \longrightarrow \infty$$

where

$$\Sigma = (\sigma_{ij})_{m \times m} = \begin{cases} 1, & i = j; \\ -\sqrt{\frac{\gamma_i \gamma_j}{(1 - \gamma_i)(1 - \gamma_j)}}, & i \neq j, \end{cases}$$
 $i, j = 1, 2, \dots, m.$

Finally we have

$$m{A}m{Q} = \sum_{t=1}^{m+1} m{B}_t ar{X}_t \stackrel{L}{\longrightarrow} m{N}_m \Big(m{0}, \ \sum_{t=1}^{m+1} m{E}_t \Big) = m{N}_m (m{0}, \ m{Y}) \longrightarrow m{N}_m (m{0}, \ m{arSigma}).$$

Namely,

$$\boldsymbol{A} \boldsymbol{Q} \xrightarrow{L} \boldsymbol{Z} \sim \boldsymbol{N}_m(\boldsymbol{0}, \ \Sigma), \qquad n_k \longrightarrow \infty \ (k = 1, 2, \cdots, m+1).$$

(3) We are to prove

$$AR \xrightarrow{P} 0, \quad n_k \longrightarrow \infty \ (k = 1, 2, \cdots, m+1).$$

Noting that the matrix \boldsymbol{A} and the vector \boldsymbol{R} are shown before, by means of an easy calculation we get

$$\mathbf{AR} = (\delta_1, \delta_2, \cdots, \delta_i, \cdots, \delta_{m-1}, \delta_m)^T$$

in which the i-th component of $\boldsymbol{A}\boldsymbol{R}$ is

$$\begin{split} \delta_i &= \frac{N^2}{\sqrt{n_i(N-n_i)N}} R_i \\ &= -\frac{N^2}{\sqrt{n_i(N-n_i)N}} \frac{n_i^2 \sum\limits_{k=1, k \neq i}^{m+1} n_k T_k}{\left[\sum\limits_{k=1}^{m+1} n_k T_k\right]^3} (\bar{X}_i - 1)^2 \\ &+ \frac{N^2}{\sqrt{n_i(N-n_i)N}} \frac{n_i T_i}{\left[\sum\limits_{k=1}^{m+1} n_k T_k\right]^3} \sum\limits_{k=1, k \neq i}^{m+1} n_k^2 (\bar{X}_k - 1)^2 \\ &+ \frac{N^2}{\sqrt{n_i(N-n_i)N}} \frac{n_i \left[2n_i T_i - \sum\limits_{k=1}^{m+1} n_k T_k\right]}{\left[\sum\limits_{k=1}^{m+1} n_k T_k\right]^3} (\bar{X}_i - 1) \sum\limits_{k=1, k \neq i}^{m+1} n_k (\bar{X}_k - 1) \\ &+ \frac{N^2}{\sqrt{n_i(N-n_i)N}} \frac{2n_i T_i}{\left[\sum\limits_{k=1}^{m+1} n_k T_k\right]^3} \sum\limits_{k=1, k \neq i, k \neq l}^{m+1} \sum\limits_{l=1, l \neq i}^{m+1} n_k (\bar{X}_k - 1) n_l (\bar{X}_l - 1) \\ &= S_1 + S_2 + S_3 + S_4. \end{split}$$

Then by repeated use of the Slutsky theorem we are to prove that each of S_1 , S_2 , S_3 , S_4 converges to 0 in probability.

For any integers i $(i=1,2,\cdots,m)$ and k $(k=1,2,\cdots,m+1)$, we suppose that when $n_k \longrightarrow \infty$ there is $\frac{n_k}{N} \longrightarrow \gamma_k$ $(\gamma_k \in (0,1))$. Obviously,

$$\sum_{k=1}^{m+1} \gamma_k = 1$$

and

$$\gamma_i = 1 - \sum_{k=1, k \neq i}^{m+1} \gamma_k.$$

So we have

a)
$$\frac{N-n_i}{N} \longrightarrow 1-\gamma_i: \sqrt{\frac{N-n_i}{N}} \longrightarrow \sqrt{1-\gamma_i};$$

b)
$$\frac{n_i n_k}{(N - n_i)N} = \frac{n_k}{N} \frac{\frac{n_i}{N}}{\frac{N - n_i}{N}} \longrightarrow \frac{\gamma_i \gamma_k}{1 - \gamma_i} : \sqrt{\frac{n_i n_k}{(N - n_i)N}} \longrightarrow \sqrt{\frac{\gamma_i \gamma_k}{1 - \gamma_i}}.$$

Based on the central limit theorem and the Slutsky theorem, we have

c)
$$\sqrt{n_k}(\bar{X}_k - 1) \xrightarrow{L} N(0, 1)$$

d)
$$\bar{X}_k - 1 \stackrel{P}{\longrightarrow} 0$$
;

e)
$$T_k \xrightarrow{P} 1: 2T_k \xrightarrow{P} 2$$

c)
$$\sqrt{n_k}(\bar{X}_k - 1) \xrightarrow{L} N(0, 1);$$

d) $\bar{X}_k - 1 \xrightarrow{P} 0;$
e) $T_k \xrightarrow{P} 1; 2T_k \xrightarrow{P} 2;$
f) $\sum_{k=1, k \neq i}^{m+1} \frac{n_i n_k}{(N-n_i)N} T_k \xrightarrow{P} \sum_{k=1, k \neq i}^{m+1} \frac{\gamma_i \gamma_k}{(1-\gamma_i)} = \gamma_i;$

g)
$$\sum_{k=1,k\neq i}^{m+1} \frac{n_k}{N} T_k \xrightarrow{P} \sum_{k=1}^{m+1} \gamma_k = 1; \left(\sum_{k=1}^{m+1} \frac{n_k}{N} T_k\right)^t \xrightarrow{P} 1 \ (t \in Z^+);$$

h)
$$\frac{\sum\limits_{k=1,k\neq i}^{m+1}\frac{n_in_k}{N(N-n_i)}T_k}{\left[\sum\limits_{k=1}^{m+1}\frac{n_k}{N}T_k\right]^3} \stackrel{P}{\longrightarrow} \gamma_i;$$

i)
$$\frac{T_i}{\left[\sum_{k=1}^{m+1} \frac{n_k}{N} T_k\right]^3} \xrightarrow{P} 1; \frac{2T_i}{\left[\sum_{k=1}^{m+1} \frac{n_k}{N} T_k\right]^3} \xrightarrow{P} 2;$$

$$j) \quad \frac{\bar{X}_i - 1}{\left[\sum_{k=1}^{m+1} \frac{n_k}{N} T_k\right]^3} \stackrel{P}{\longrightarrow} 0.$$

$$S_{1} = -\frac{N^{2}}{n_{i}(N - n_{i})N} \frac{n_{i}^{2} \sum_{k=1, k \neq i}^{m+1} n_{k} T_{k}}{\left[\sum_{k=1}^{m+1} n_{k} T_{k}\right]^{3}} (\bar{X}_{i} - 1)^{2}$$

$$= -\sqrt{\frac{N - n_{i}}{N}} \frac{\sum_{k=1, k \neq i}^{m+1} \frac{n_{i} n_{k}}{N(N - n_{i})} T_{k}}{\left[\sum_{k=1}^{m+1} \frac{n_{k}}{N} T_{k}\right]^{3}} \sqrt{n_{i}} (\bar{X}_{i} - 1) (\bar{X}_{i} - 1),$$

by a), c), d), h) and the Slutsky theorem, we have

$$S_1 \xrightarrow{P} 0.$$

For

$$S_{2} = \frac{N^{2}}{n_{i}(N - n_{i})N} \frac{n_{i}T_{i}}{\left[\sum_{k=1}^{m+1} n_{k}T_{k}\right]^{3}} \sum_{k=1, k \neq i}^{m+1} n_{k}^{2}(\bar{X}_{k} - 1)^{2}$$

$$= \frac{T_{i}}{\left[\sum_{k=1}^{m+1} \frac{n_{k}}{N}T_{k}\right]^{3}} \sum_{k=1, k \neq i}^{m+1} \frac{n_{k}}{N} \sqrt{\frac{n_{i}n_{k}}{N(N - n_{i})}} \sqrt{n_{k}}(\bar{X}_{k} - 1)(\bar{X}_{k} - 1),$$

by the assumption and b), c), d), i) as well as the Slutsky theorem, we have $S_2 \stackrel{P}{\longrightarrow} 0$.

For

$$S_{3} = \frac{N^{2}}{\sqrt{n_{i}(N-n_{i})N}} \frac{n_{i} \left[2n_{i}T_{i} - \sum_{k=1}^{m+1} n_{k}T_{k}\right]}{\left[\sum_{k=1}^{m+1} n_{k}T_{k}\right]^{3}} (\bar{X}_{i} - 1) \sum_{k=1, k \neq i}^{m+1} (\bar{X}_{k} - 1)$$

$$= \sqrt{\frac{N-n_{i}}{N}} \frac{2T_{i}}{\left[\sum_{k=1}^{m+1} \frac{n_{k}}{N}T_{k}\right]^{3}} \sqrt{n_{i}} (\bar{X}_{i} - 1) \sum_{k=1, k \neq i}^{m+1} \frac{n_{i}n_{k}}{N(N-n_{i})} (\bar{X}_{k} - 1)$$

$$- \frac{(\bar{X}_{i} - 1)}{\left[\sum_{k=1}^{m+1} \frac{n_{k}}{N}T_{k}\right]^{2}} \sum_{k=1, k \neq i}^{m+1} \sqrt{\frac{n_{i}n_{k}}{N(N-n_{i})}} \sqrt{n_{k}} (\bar{X}_{k} - 1),$$

by a), b), c), d), i), j) and the Slutsky theorem, we have

$$S_3 \stackrel{P}{\longrightarrow} 0$$
.

For

$$S_{4} = \frac{N^{2}}{\sqrt{n_{i}(N-n_{i})N}} \frac{2n_{i}T_{i}}{\left[\sum_{k=1}^{m+1} n_{k}T_{k}\right]^{3}} \sum_{k=1, k \neq i, k \neq l}^{m+1} \sum_{l=1, l \neq i}^{m+1} n_{k}(\bar{X}_{k}-1)n_{l}(\bar{X}_{l}-1)$$

$$= \frac{2T_{i}}{\left[\sum_{l=1}^{m+1} \frac{n_{k}}{N}T_{k}\right]^{3}} \sum_{k=1, k \neq i, k \neq l}^{m+1} \sum_{l=1, l \neq i}^{m+1} \sqrt{\frac{n_{i}n_{k}}{N(N-n_{i})}} \sqrt{n_{k}}(\bar{X}_{k}-1) \frac{n_{l}}{N}(\bar{X}_{l}-1),$$

by the assumption and b), c), d), i) as well as the Slutsky theorem, we have

$$S_4 \stackrel{P}{\longrightarrow} 0.$$

Finally, by use of the Slutsky theorem again, we have

$$\frac{N^2}{\sqrt{n_i(N-n_i)N}}R_i = S_1 + S_2 + S_3 + S_4 \xrightarrow{P} 0 \qquad (i = 1, 2, \dots, m).$$

Namely,

$$AR \xrightarrow{P} 0.$$

(4) Based on the conclusion of (2) and making use of Lemma 2.2, we have

$$m{A}(m{Q}+m{R}) \stackrel{L}{\longrightarrow} m{Z} \sim m{N}_m(m{0}, \ m{\Sigma}).$$

Namely,

$$A[(Y_1, Y_2, \cdots, Y_k)^T - C] = A(Q + R) \xrightarrow{L} Z \sim N_m(0, \Sigma),$$

where, the covariance matix is

$$\Sigma = (\sigma_{ij})_{m \times m} = \begin{cases} 1, & i = j; \\ -\sqrt{\frac{\gamma_i \gamma_j}{(1 - \gamma_i)(1 - \gamma_j)}}, & i \neq j, \end{cases}$$
 $i, j = 1, 2, \dots, m.$

References

- [1] Li Ze-hui and Li Xiao-hu, Exercises Course of Mathematical Statistics, Lanzhou University Press, Lanzhou, 1995.
- [2] Zhang Yao-ting and Fang Kai-tai, Introduction of Multivariate Statistical Analysis, Science Press, Beijing, 2003, pp.364–365.
- [3] Song Li-xin, Chen Fei and Li Han, Asymptotic distribution of a kind of Dirichlet distribution, J. Jilin Univ. (Science Edition), 45(5)(2007), 775–778.
- [4] Zhang Yao-ting, The Determinable Data's Statistic Analysis, Guangxi Normal University Press, Naning, 1991.
- [5] Chen Fei and Song Li-xin, Spread about Theorem, Jilin Normal University Journal, 26(2)(2005), 41–42.
- [6] Mao Shi-song, Wang Jing-long and Pu Xiao-long, Senior Mathematical Statistics, Higher Education Press, Beijing, 1998.
- [7] Fang Kai-tai and Xu Jian-lun, Statistic Distribution, Science Press, Beijing, 1987.